
MULTIPLICATION WITH CARRYING

1 1

4 8 4 8 4 8 4 8 4 8

X 2 X 2 X 2 X 2 X 2

16 1 6 6 9 6

MULTIPLY

1. 2. 3. 4. 5. 6.

X 3 X 4 X 2 X 3 X 2 X 6

7. 8. 9. 10. 11. 12.

X 4 X 5 X 3 X 6 X 2 X 3

13. 14. 15. 16. 17. 18.

X 7 X 2 X 4 X 2 X 5 X 8

19. 20. 21. 22. 23. 24.

X 4 X 9 X 2 X 6 X 7 X 3

25. 26. 27. 28. 29. 30.

X 5 X 3 X 8 X 4 X 3 X 4

31. 32. 33. 34. 35. 36.

X 3 X 2 X 6 X 3 X 8 X 7

ANSWERS

5 6 0 6 3 7

4 5 5  9 9

 8 1 1 0 8 9 0 1 5 9

4 8 8 7 2

4 2 7 8 7

 6 8 3 2 8 1 6 6

 8 8 7 2 0 7 4 9 6

3 0 6 1 8 6 7 8

3 4 8 1

8 3 2 0

7 0 9 1

2 4 9 8 0

2 8 7 1

 8 4 2 8 4

9 1 3 3 6 1 1 8

2 7 5 4 1 5 5 3

2 9

4 1

2 8 7

8 2 8 3

2 2 8 0 3 7 1 6

6 4 8

7 0

3 5 0

 8 4

6 1

 9 6  9 0 9 6

4 1

9 3 2 6

2 9 6 3

2 4 6

2 4

= 96

HELPFUL EXAMPLE

1 8 3 2 5 1

+

4 2

5 8 1 8 9

 MULTIPLY FROM

 RIGHT TO LEFT.

 2 x 8 = 16, BUT YOU CAN ONLY HAVE ONE DIGIT IN EACH

 SPACE. YOU NEED TO MOVE THE ONE TO THE LEFT.

 MULTIPLY 2 x 4, WHICH 

 EQUALS 8, BUT YOU ALSO

 NEED TO ADD THE ONE.
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